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log[Empfindlichkeit] logLo = -0,35u)—Us7q
logVo = -0,35[-Ussd2  logVo= —0,35[1~Us::]2
logVa=logV, +0,00 logLa=logLo+0,02
log [Vo, La, M5, ] logVia= logV+0,02

M u\=(A—550)/50

log[Sattigung] logLo = -0,35)—Us7q
logVo = —0,35[)—Uss7]2 logM o= —0,35[1)—Us.:]
logVa=logV, +0,00 logLa=logLo+0,02

log [Vo/Vo,Ld/Vo,M:/Vo,] logM 4= log M +0,02
Ma La Séttigung \%

L:M Adaptation
=1:1  L&M:557

Lo=-0,02 La=-0,&
V=-0,00 Va=-0,&
Mo=-0,02 Ma=—0,&

V\5Ec  565EC

Adaptation
L&M: 557
t£0.0

495Ec  565Ec

500 600Ad/nm 700Ac 400

log[Empfindlichkeit] logLo = -0,35u)—Us7q
logVo = —0,35[1)\—U557]2 logVio=-0,350\-u ]2
log  =-0,35L\-u 1%+0,02logLa= logL¢+0,02
= logM = log M +0,02
M u\=(A—550)/50

CGQ10-2A
log[Sattigung] logLo = -0,35)—Us7q
logVo = -0, 35pA—u557]2 logV o= —0,35[1)—Us.:]
log =-0,35U\—u ]%+0,02logLa= logL¢+0,02

log [Vo/Vo,La/Vo,Ma/Vo, Vo] logMa=logM +0,02
St Ma La Sé[tigung \%

L:M:S Adaptation
=1:1:1 L&I: 557

Vo=-0,(0Vg=
Mo=-0.12 Ma=—0,
1 Sp=-1,"78a =
545! Y\5Ec  f65EC

! : LM:S A Japtatlon
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= —— — =

. \

1
1445 543 1570 495Ec  565EC
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log[Empfindlichkeit]

logVo = -0,35[iy~Uss72

log =-0,35U\-u 1%-1,17logLa= logLo+0,17

logVl2=log,—0,13
u,=(A—550)/50
:M:S  Adaptation
—16 8:1 L&M: 557

557:tTO.O
Lp=-0,02 L3 =0,13
Vp=-0,00 Vg=-0,0
Mg=-0,0: Ma=—0,17
S0 =-1,7 Sa =-2.¢
Ec 5¢5Ec

500 600Ad/nm 700Ac 400

log[Sattigung] logLo = -0,35)~Us7d
logVo = —0,35[.1)\-U557]2 logMo= -0,350)\-u ]2
log =-0,35U\—u 1%-1,17logLa= logLo+0,17
log [V ¥Vo,La/Vo, /Vo, Vo] logVi2=log M -0,13
Sa Satigung V
LM:S _Ac aptation

570 495Ec  565EC

log[Empfindlichkeit]

logVo = —0,35[,~ u557]2

log  =-0,35L\-u ]%+0,02logLa= Iog Lo+0,17

log [Vo, La, Ma, ] logMa=logM+—0,13
Sa u,=(A—550)/50

1 ‘M:S  Adaptation

- =4:2:3 L&IN: 557

. i=h)0

1

!

557
Lo=-0,(2L3=0,13
Vp=-0,(0Vg=-0,0
Mo=-0, 12 Mg=—-0,17
Sp=-1,77 Sg =-1,7
\9BEc  [65Ec

500 600rd/nm 700Ac 400
CGQ10-6A

log[Sattigung] logLo = -0,35l)~Us7d
logVo = =0,35[-UssA2  logMo= —0,35[1~Us:?
log =-0,35U\—u ]%+0,02logLa= logLo+0,17
log [Vo/Vo,La/Vo,Ma/Vo, Vo] logMa=logMV -0,13
Se Ma.a Séttigung V
LM:S A Japtation

565Ec

500 600Ad/nm 700Ac 400

500 600Ad/nm 700Ac 400
CGQ10-8A

log[Empfindlichkeit] logLo = -0,35u,~Us7q

logVo = -0,35l-Uss12  logMo= —0,35[1-Us.?

logVa=logV, +0,00 logLa=logLo+0,02

log [Vo, La, M3, ] logM = log M +0,02
M u,=(A-550)/50

log[Sattigung] logLo = -0,35u)—Us7q

logVo = -0,35[-Ussd2  logVo= —0,35[1)~Us::]2

logVa=logV, +0,00 logLa=logLo+0,02

log [Vo/Vo,La/Vo,M a/Vo,] logVl2 = log V,+0,02
Ma La Sattigung V/

L:M Adaptation

=1:1  L&M: 557
557:t§0.04
Lo=-0,02 Lg=-0,0:
=000 Vg =-0,0(
Mo——O 02 Ma=-0,0

570 495Ec  565EC

[ L:M Adaptation
- =111 L&M: 557
1 1
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===

570 495Ec  565EC

600Ag/nm 700Ac 400

log[Empfindlichkeit] logLo = -0,35u)~Us7q

|ogVo=—0,35[J)\—Uss7]2 logMo=-0,350)\-u ]2
log =-0,35u\-u ]%+0,02logLa= logLo+0,02
logMa= logM+0,02

u,=(A-550)/50

500 600Ad/nm 700xc 400
CGQ11-2A
log[Sattigung] logLo = -0,35u)—Us7q
logVo = —0,35[1)~Uss7]2 logM o= —0,35[1)~Uss]2
log  =-0,35L\-u 1%+0,02logLa= logL¢+0,02
log [Vo/Vo,La/Vo,Ma/Vo, Vo] logMa=logMo+0,02
Ta Ma La Sattigung V

L:M:S Adaptation
=1:1:1 L&M: 557
s s=0.04
1.0=-0,02 Lg=-0,0:
 Me=r0:00 Vg =-0,0(
Mg=-0,02 Ma=-0,0
So =-1,77 Sg =-1,7
570 495Ec  565EC

[ L:M:S Adaptation
- =1:1:1 L&M: 557
1 t=0.04

5441 570 495Ec  565EC

600Ag/nm 700Ac 400

log[Empfindlichkeit] logLo = -0,35L)~Us7d
logVo = 0,350~ Uss7> logVio= ~0,35[1\~Us:?
log =-0,35u\-u ]?~1,17logLa= logLo+0,17
logM2=logM--0,13
u=(A-550)/50
L:M:S™ Adaptation
=16:8:1 L&M: 557
557:t§0.04
La=0,13
Vi@ (W00 V2 =—0,0(
MO==0"2 Ma=-0,1}
So =-".,77 Sg =-2,9
570 495Ec  565EC

500 600 Ad/nm 700Ac 400

log[Séttigung] logLo = —0,35[u)—Us7q

logVo = —0,35[1)~Uss7]2 logM o= —0,35[1~Uss]2

log  =-0,35U\-u 1%-1,17logLa= logLo+0,17

log [Vo/Vo,La/Vo,Ma/Vo, Vo] logMa=logV 0,13

Sa Ma La Sattigung V

' L:M:S Adaptation

L =16:8:1 L&M: 557

| =0.04

— N

445 545 570 4952c  5B5EC

600Ad/nm 700Ac 400

log[Empfindlichkeit] logLo = —0,35L)~Us7d

logVo = -0,35l~Ussd?>  logVo= ~0,35[-Us1]?
log =-0,35u\—u ]%+0,02logLa= logLo+0,17
log [Vo, La, Ma, ] logM 4= logV,—0,13

Sa uy=(A-550)/50

L:M:S  Adaptation

=4:2:3 L&M: 557

. 57004
N\ 052002 La=013
~ V<00 Va=-0,0(
MO==0,02 Mg=—0,1:
S0 =-1,77 Sg =-1,7
70 495Ec  565EC

400 500 600Ag/nm 700xc 400

CGQ11-6A
log[Séttigung] = —0,35[)~Us7q
logVo = —0,35[1)\—U557]2 logMo= -0,35l)\—u ]2
log  =-0,35L\-u 1%+0,02logLa= logLo+0,17
log [Vo/Vo,La/Vo,Ma/Vo, Vo] logMa=logVio-0,13

Ta MaLa Sattigung V
i LM:S _Adaptation
=4:2:3 L&M: 557

54570
a 495Ec  565Ec

500 600Ad/nm 700Ac 400

500 600Ad/nm 700Ac 400
CGQL1-8A

TUB-Prufvorlage CGQ1; Zapfenverhaltnis L:M: S—>LN & M/V & S/V, lin[Schwellen]=0 & 0,04
log[Empfindlichkeit], log[Verhéltnis], L:M:S=Gelb:grinliches Gelb:rétliches Blau=16:8:1
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